SplashLearn

Multi-Step Word Problems

Solve the multi-step word problems.
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Miley collected 6 groups of 7 marbles. Ron gave her 9 groups of 3 marbles more. How
many marbles does she have in all?

Number of marbles Miley collected: X = marbles
Number of marbles Ron gave: X = marbles
Total marbles with Miley: + = marbles
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A field has a length of 10 meter and a width of 9 meter. Jojo wants to plant tulip bulbs.

However, 25 square meters of the field has rose plants. What is the area left for
planting tulip bulbs?




